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Run 6021 mpswise, accO: All

Enilries: 155692

Mean: T8018 +/- 0.0156

Shd Dhey: E.1539 +- 00110
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Run 6021, mpswise, acc0: Beam ON, Laser ON

Eniries: 65633

Mean: 14.7912 /- 00037

Sid Dey: 09550 - 00026
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Run 6021 mpswise, acc(: Beam OFF

Entries: 15211

Mean: 001586 +/- 0.0009

Sid Drev: 01095+ 000086
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Run 6021, mpswise, acc0: Beam ON, Laser OFF
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Eniries: 642080

Mean: 28514 +- D18

Sid Dev: 0LAG5E0 - 0.0073
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Run 6021 mpswise, BCM: All
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Run 6021 mpswise, BCM: Beam OFF

Entries: 15211

— Meari: 000000 +/- 00000

Sid Dy 0L002T - 0.0000
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Run 6021, mpswise, BCM: Beam ON, Laser OFF

Eniries: 642080

Mean: 1450395 +/- 00161

Sid Dev: 41105 - 0.0114
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Run 6021 mpswise, lasPow: All Run 6021 mpswise, lasPow: Beam OFF
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Run 6021, mpswise, lasPow: Beam ON, Laser ON Run 6021, mpswise, lasPow: Beam ON, Laser OFF
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Run 6021 mpswise, bpmAx: All

Enilries: 155692

Mearn: -0. 2217 & 00002

Sid Dev: 00965 +- 0.0002

Run 6021, mpswise, bpmAx: Beam ON, Laser ON

Enitries; 65633

Mean: -0.1942 «- 00001

Sid Dev: 00283 +- 0.0001
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Run 6021 mpswise, bpmAx: Beam OFF

Entries: 15211

Meary: -0.4795 o- DUDODE

Sid Dev: 01048 - 000086
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Run 6021, mpswise, bpmAx: Beam ON, Laser OFF

Entries: 649080

Mean: -0.7908 &~ 000001

Sid Dey: 00278 «- 0.0001
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Run 6021 mpswise, bpmAy: All

— Entries: 1556592

Mean: 0.0 64 «/- 00001

Std Dery: 0.0368 - 0.0001
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Run 6021, mpswise, bpmAy: Beam ON, Laser ON

B - Entries: 86633

— Mean: -0.0218 «- 00000
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Run 6021 mpswise, bpmAy: Beam OFF
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Run 6021, mpswise, bpmAy: Beam ON, Laser OFF
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Run 6021 mpswise, bpmBx: All

— Entries: 155692

Mean: -0, 1458 < 00H1E

Sid Dev: 06084 &~ 0.00711
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Run 6021, mpswise, bpmBx: Beam ON, Laser ON
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Eniries: 65633

Mean: -0.3370 o 000001

Sbd Drey: 007149 4~ 0.0000
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Run 6021 mpswise, bpmBx: Beam OFF

- Entries: 15211

Meari: 15550 +/- 0.0054

Sid Dev: 0L6GS4 - 00038
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-30 —-20 -10 D 10 20

Run 6021, mpswise, bpmBx: Beam ON, Laser OFF
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Eniries: 642080

Mean: -0. 3364 & - 00001

Sid Dev: 00744 - 0.0000
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Run 6021 mpswise, bpmBy: All
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- Entries: 165692
— Mean: LAE3 4 00014
[ Sid Dev- 0.562 +- 0.0010
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Run 6021, mpswise, bpmBy: Beam ON, Laser ON

— Entries: 66633
— Mean: 0.9782 4- 0.0000
__ Sid Dev- 00071 &~ 0.0000
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Run 6021 mpswise, bpmBy: Beam OFF

- Entries: 15211

Meary: -0. 7552 &/- DUDOSL

Sid Dev: 0L6GS4 - 00038
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Run 6021, mpswise, bpmBy: Beam ON, Laser OFF

Eniries: 642080

Mear: 029731 +/- 00000

Sid Dev: 00086 4~ 0.0000
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Run 6021 mpswise, beam ON, laser ON
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Run 6021 mpswise, beam OFF, laser ON
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Run 6021 mpswise, beam ON, laser OFF
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Run 6021 mpswise, beam OFF, laser OFF
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Run 6021 mpswise, beam ON, laser ON
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Run 6021 mpswise, beam OFF, laser ON
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Run 6021 mpswise, beam ON, laser OFF
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Run 6021 mpswise, beam OFF, laser OFF
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Run 6021 mpswise, beam ON, laser ON
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Run 6021 mpswise, beam OFF, laser ON
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Run 6021 mpswise, beam ON, laser OFF
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Run 6021 mpswise, beam OFF, laser OFF
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Run 6021 mpswise, beam ON, laser ON
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BPM Ax

20 40 60

Run 6021 mpswise, beam OFF, laser ON
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Run 6021 mpswise, beam ON, laser OFF
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Run 6021 mpswise, beam OFF, laser OFF
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BPM Ay

BPM Ay

Run 6021 mpswise, beam ON, laser ON Run 6021 mpswise, beam ON, laser OFF
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Run 6021 mpswise, beam OFF, laser ON Run 6021 mpswise, beam OFF, laser OFF
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Run 6021 mpswise, beam ON, laser ON
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Run 6021 mpswise, beam OFF, laser ON
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Run 6021 mpswise, beam ON, laser OFF
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Run 6021 mpswise, beam OFF, laser OFF
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Run 6021 mpswise, beam ON, laser ON

AN T AN T T T [N T TN N N N T T T N N N T T [N TN NN N O A A '
20 40 60 B8O 100 120 140 160 180
mpsCoda
Run 6021 mpswise, beam OFF, laser ON
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Run 6021 mpswise, beam ON, laser OFF
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Run 6021 mpswise, beam OFF, laser OFF
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